class ExEnv [ ] ContextU

UserMock : User

«Mock»

1

rp_player : PlayerClient

dd_pp_player : PlayerServer

L

«HasThread» g]

Player : Player

dd_rp_reader : ReaderClient

dd_rp_display : DisplayClient

1

pp_reader : ReaderServer

L
«Mock»

ReaderMock : Reader

L1
dd_rp_titlebase : TitlebaseClient

pp_display : DisplayServer

L
«Mock»

DisplayMock : Display

pp_titlebase : TitlebaseServer
1

TitlebaseMock : Titlebase

L
«Mock»




package ReaderProtocol[ [£ ClassDiagram U

ReaderClient

-RV : eRV = OK
-FileHandle : int=0
-Chunk : tChunk

IReaderClient O

+CbOpened() : void
+CbStopped() : void
+CbDone() : void

+CbError( Sector : int) : void
+CbClosed() : void
+CbReading() : void
+CbFilled() : void

[ |
7/ =
v N
/s
7/
/4
IReaderServer O
+Close() : void
+Stop() : void
+Open( FileHandle : int) : eRV
+Read( pChunk : tChunk™*" ) : eRV
+Clear() : void
178
AN
AN
N
\ 7/
=
L
ReaderServer

-Sector :int=0




package TitlebaseProtocol[ [E ClassDiagram U

TitlebaseClient

-RV : eRV = OK
-FileHandle : int=0
-Chunk : tChunk
-Titleld : String
-AtTime : tTime
-BadSector : int=0
-BadTime : tTime

[

o
|
\z

ITitlebaseServer

+OpenTitle( Titleld : String ) : int
+CloseTitle() : void

+SetTime( AtTime : tTime"*" ) : eRV
+GetChunk( New Chunk : tChunk™*" ) : eRV
+ReportReadError( BadSector : int) : void
+ReportSynclost( BadTime : tTime"*" ) : void
+GetResult() : eRV

T

I
—

L
TitlebaseServer

-FileHandle : int = 12345
-Chunk : tChunk




package DisplayProtocol[ [E ClassDiagram U

IDisplayClient

o

+CbPrepared() : void
+CbStarted() : void
+ChPaused() : void
+CbContinued() : void
+CbFinished() : void

+CbSynclost( BadTime : tTime ) : void

+ChbStopped() : void

DisplayClient
-RV : eRV = OK
]
g I
V2 N
v N
e
e
v
IDisplayServer O
+Prepare() : void
+Start() : void
+Pause() : eRV
+Continue() : void
+Stop() : void
W
N
N
AN
N e
N~
L1

DisplayServer

-BadTime : tTime




package ProxyReaderProtocol[ [2| ClassDiagram ]J

ProxyReaderClient
-RV : eRV = OK
-FileHandle : int =0
-Chunk : tChunk
I
|
/N
N
/ N
/ N
A A
IProxyReaderServer O IProxyReaderClient O
+Px_Open( FileHandle : int) : eRV +Px_CbhOpened() : void
+Px_Close() : void +Px_CbStopped() : void
+Px_Stop() : void +Px_CbDone() : void
+Px_Clear() : void +Px_CbError( BadSector : int ) : void
+Px_Read( pChunk : tChunk"*") : eRV +Px_CbClosed() : void
+Px_IsFilled() : void +Px_CbReading() : void
R P +Px_CbFilled() : void
-
AN ~
-
L1
ProxyReaderServer
-BadSector : int =0




package ProxyDisplayProtocol[ [ 2| ClassDiagram ]J

IProxyDis playClient

+Px_CbContinued() : void
+Px_CbFinished() : void
+Px_CbPaused() : void
+Px_CbPrepared() : void
+Px_CbStarted() : void
+Px_CbStopped() : void
+Px_CbSynclost( BadTime : tTime ) : void

7
7

ProxyDisplayClient
-RV : eRV = OK
L}
7N
4 N
7/ N
/s
K
IProxyDisplayServer O
+Px_Continue() : void
+Px_Pause() : eRV
+Px_Prepare() : void
+Px_Start() : void
+Px_Stop() : void
128
AN
AN
e
N e
N\ -
1
L1

ProxyDisplayServer

-BadTime : tTime




(‘state machine BackendFsm[ BackendFsmu

«SyncReturn»
[MyFHandle==0] /
return eRV.INVALID_PARAM;

Idle

. [ Base ] |/ pp_player->CbStopped();

pp_player->Start( Titleld, AtTime ) /
MyFHandle=rp_titlebase->OpenTitle(Titleld);

>

«SyncReturn»
[else] /
rp_titlebase->CloseTitle();
return eRV.FAILURE;

[else] /
frv=rp_titlebase->SetTime( AtTime );

Stopping :
Stopping
o

«SyncReturn»

pp_player->Pause() /
return eRV.OK_RACE;

il

>

«SyncReturn»
pp_player->Stop()

«SyncReturn»

[frv==eRV.OK] /

return eRV.OK;

Active
rpp_reader->Px_ChDone() / Tsm_Log("CbDone");
ExitError «AnyTrigger»
Starting : / «SyncReturn»

pp_player->Pause() /

Starting
return eRV.OK_RACE;

o

/ pp_player->CbStarted();
/ pp_player->CbError();

| Finishing

‘ rpp_reader->Px_CbError( BadSector ) ’

/ pp_player->CbFinish();

ExitFinished

—*

ExitPause,
ExitPauseStart

EntryPauseStart, EntryPauseRecover

ExitFinished

ExitError ExitError ExitFinished

Play : Play / pp_player->CbContinued(); Continuing T
Continuing
o L o—

ExitPauseRecover EntryReadError

ExitReadError

/ pp_player->CbPaused(); d

&
Paused : Paus

o

PausingA
o

ExitError|




(‘state machine Play [ [ Play U

«SyncReturn»

pp_player->Pause() /

ExitPause return eRV.OK;

Base

Qs

rpp_display->Px_CbFinished()

rpp_reader->Px_CbError( BadSector ) /
rp_titlebase->ReportReadError( BadSector );

rpp_display->Px_CbSynclost( BadTime ) /
rp_titlebase->ReportSynclost( &BadTime );

¢

«TacTransition»
«SyncReturn»

pp_player->Pause() /

ExitPauseRecover return eRV.OK:

&

Recover :

Q)

ExitError ExitReadFailure

ExitReadErro|

Tac_Recover

ExitNoData ExitFinished

StartPlay :
Tac_StartPlay

ExitSynclost

«SyncReturn»

pp_player->Pause() /
return eRV.OK;

ExitPauseStart




(state machine Pausing [ [2 Pausing U

ExitFinished

StartPause :
Tac_StartPause

EntryPauseStart

ExitReadError ExitSynclost

Recover :
Tac_Recover

Q

EntryPauseRecover

ExitNoData ExitReadFailure

ExitFinished ExitError




(‘state machine Continuing [ 1 Continuing U

rpp_display->Px_CbFinished()

: \

rpp_reader->Px_CbError( BadSector ) /
rp_titlebase->ReportReadError( BadSector );

rpp_display->Px_CbSynclost( BadTime ) /
rp_titlebase->ReportSynclost( &BadTime );

CS
Base | «AnyTrigger» —
. 7| entry / rpp_display->Px_Continue(); I
«IsProxyNok»
[else]
«IsProxyOk»

¢

EntryReadError

Recover :
Tac_Recover

Q)

ExitError

ExitReadFailure

¢

StartPlay :
Tac_StartPlay

ExitReadError

ExitNoData

ExitFinished

ExitSynclost




(state machine Paused|[ fE Paused u

«SyncReturn»
pp_player->Continue() /

( Base } return eRV.OK; >@

rpp_reader->Px_CbhError( BadSector ) /
rp_titlebase->ReportReadError( BadSector );

[ ReadError

N/

«SyncReturn»

pp_player->Continue() /
return eRV.OK;

ExitReadError




(state machine Starting [ {5 starting U

CS_Open

| Base

[else]

‘ entry / frv=rpp_reader->Px_Open( MyFHandle );

«IsProxyOk»

«AnyTrigger»

«lIsProxyNok»
[else]

ExitNoData,

ExitErrorM

ExitReadFailure,
ExitChunkError

ExitNoData,
ExitReadFailure

[frv==eRV.OK]

StartRead :
Tac_StartRead

ExitReadError

Recover :
Tac_Recover

StartPlay :
Tac_StartPlay

ExitReadError,
ExitSynclost




(s tate machine Tac_StartPlay [ Tac_StartPlay U

Cs

. > Base

«AnyTrigger» o—

entry / rpp_display->Px_Start();

«IsProxyNok»
[else]

«IsProxyOk»

ExitSynclost

rpp_reader->Px_CbError( BadSector ) /
rp_titlebase->ReportReadError( BadSector );

ExitReadError

rpp_display->Px_CbSynclost( BadTime ) /
rp_titlebase->ReportSynclost( &BadTime );




]
component ProxyDisplay [ ProxyDisplay ]J L

d_ppp_display : ProxyDisplayServer

ppp_display : ProxyDisplayServer
I

PxDisplay : ProxyDisplay

[]
L
rp_display : DisplayClient

p_display : DisplayClient

dr
1
L1




state machine ProxyReaderFsm[ (5 Prm(yReaderFsm]J

ppp_reader->Px_Open( FileHandle ) /
return eRV.OK;

«ProxyNok»
ppp_reader->Px_Stop()

rp_reader->ChFilled()
«lgnore»

Stopping

rp_reader->ChDone()
«ignore»

tp_reader->ChError()
«Ignore»

]

S «ProxyOk»

pp_teader->Px_Stop()
Ny

e proxyoks

ppp_reader->Px_Chose()

[ Base
ppp_reader->Px_Open( FileHandle ) /
frv’= rp_reader->Open( FieHandle );
«ProxyOk»
[else] / «ProxyNok»
return frv; [frv=eRV.OK] /
return frv;
rp_reader->CbClosed() /
ppp_reader->Px_CbClosed();
«ProxyNok» PR /2.
Opening «ProxyNol

«ProxyNok»
ppp_reader->Px_Close()

yNok»
ppp_reader->Px_Stop()

tp_reader->ChOpened() /
ppp_reader->Px_CbOpened();

«ProxyNok»

ppp_reader->Px_Close()

Closing

«ProxyNok»
ppp_reader->Px_Close() /
rp_reader->Close();

reader->CbStopped() /
ader->Px_CbStopped();

«ProxyOk»
ppp_reader->Px_Open( FleHandle ) /
returi 9

open

ppp_reader->Px_Clear() /
tp_reader->Clear();

«ProxyNok»
ppp_reader->Px_Stop() /
1p_reader->Stop():

rp_reader->CbDone() /

Reading

«ProxyOk»
pp_reader->Px_Read( pChunk) /
return eRV.OK;

«ProxyNok»
NotEnough ppp_reader->Px_Filed()

tp_reader->ChFiled() /
ppp_reader->Px_ChFiled();

ppp_reader->Px_Read( pChunk ) /
frv=rp_reader->Read( pchunk );

ppp_reader->Px_Stop()

ppp_reader->Px_CbDone(); [ Enough
{ ;) «ProxyOko>
T { ppp_reader->Px_IsFiled()
«ProxyOk»

tp_reader->ChEror( Sector ) /
ppp_reader->Px_ChError( Sector );

1,_ Eror

«ProxyNok» «ProxyOk»
[frv==eRV.OK] / felse] /
return frv; return frv;
«ProxyNok»

ppp_reader->Px_Stop()

Seeking

rp_reader->CbReading() /
ppp_reader->Px_CbReading();

ppp_reader->Px_Read( pchunk)
«ProxyNok»




state machine Proxy Ps|

y ServerPsm u

*

Idle

«ProxyOk»
Px_Close()

Base ]
Px_Open( FileHandle )
>
EEIOXy Ol «ProxyNok»
[else]/ ['ok'] /
return eRV.INVALID_PARAM; return eRV.OK:
«ProxyNok»
«NativeTrigger» Px_Close()
1Px_ChClosed();
«ProxyNok»
Px_Open( FileHandle ) / Opening ProxyNok
return eRV.OK; «Proxy!| » o
Px_Stop() _OSM
«ProxyNok»
Px_Close()
«NativeTrigger» «ProxyNok»
1 Px_ChOpened(); Px_Close()
«ProxyOk» Reading
Px_Open( FileHandle ) / «ProxyOk»
return eRV.OK; Px_Read( pChunk ) /
return eRV.OK;
Open NotEnough «ProxyNok»
Px_IsFilled()
Px_Clear() C «NativeTrigger»
«NativeTrigger» S 1 Px_CbFilled();
NativeTrigger» = g
«ProxyNok» 1 Px_ChStopped(); ) A
Px_Stop() / Px_CbDone();

[ Stopping ]

«ProxyNok»
Px_Stop()

Px_Read( pChunk

; «ProxyOk»

( Enough «ProxyOk»
[ Px_IsFilled()

Px_Stop() «NativeTrigger»
1 Px_CbError( BadSector );
a A Error
«ProxyOk»
«ProxyNok» [else] /
['ok']/ return eRV.INVALID_PARAM;
return eRV.OK;
«ProxyNok»
Px_Stop()
«NativeTrigger»

Seeking

Px_Read( pChunk) /
return eRV.OK;

«ProxyNok»

1 Px_CbReading();




state machine ProxyReaderClientPsm[ [z

ProxyReaderClientPsm u

«NativeTrigger»
1 Px_Stop();

[RV==eRV.OK]

«lsProxyNok»

«NativeTrigger»

Px_CbhStopped() : void

Stopping

«lsProxyOk»
<>

«NativeTrigger»
«NativeTrigger» /' Px_Close();
/ RV=Px_Open( FileHandle );

Px_ChClosed() : void

lelse] «IsProxyOk»
Closing

«NativeTrigger»

/ RV=Px_Open( FileHandle );
«NativeTrigger»

«lIsProxyNok» 1 Px_Close():

Opening

«NativeTrigger»

«IsProxyNok»
1 Px_Close();

Px_ChOpened() : void

Reading

. - NativeTrigger»
«NativeTrigger» _« X
/ RV=Px_Open( FileHandle ); AR IRead(schunks)

«lsProxyOk»

Open
NotEnough

«lsProxyNok»

«NativeTrigge
1 Px_Stop()

«IsProxyOk»

«IsProxyNok»

«IsProxy Ok»

«Native Trigger»
/ Px_lIsFilled();

Px_ChDone() : void
Px_CbFilled() : void

«NativeTrigger»
1 Px_IsFilled();

Yy

Enough )
L «lsProxyOk»

1 Px_Clear();

«NativeTrigger» «NativeTrigger»

/ RV=Px_Read( &Chunk)

a «IsProxyOk» _ —
[else] 2 Error

Px_CbError( BadSector : int) : void

™

' [RV==eRV.OK]
«NativeTrigger»

/ RV=Px_Read( &Chunk );

«IsProxyNok»

Px_CbReading() : void

Seeking

«NativeTrigger»

1 Px_Stop(); «IsProxyNok»




(‘state machine ReaderServerPsm[ ReaderServerPsmu

Open( FileHandle : int) : eRV

[else] /
return
eRV.INVALID_PARAM,

["ok"] /
return eRV.OK;

«NativeTrigger»
/ CbClosed();

«NativeTrigger»
/ CbOpened(); Close() : void
Reading
Clear() : void
NotEnough
«NativeTrigger» «NativeTrigger»
/ CbStopped(); / CbDone(); «NativeTrigger»
/ CoFilled();
Stopping l —‘ Enough

Read( pChunk : tChunk™*") : eRV

Stop() : void

«NativeTrigger»
| CbError( Sector );

<
[ok/

return eRV.OK;

(— Error

[else] /
return
eRV.INVALID_PARAM,

Seeking

«NativeTrigger»
/ CbReading();




('state machine ReaderClientPsm[ [E% ReaderClientPsm U

«NativeTrigger»

/ RV=Open( FileHandle ); CbClosed() : void

[RV==eRV.OK] Closing

Opening
«NativeTrigger»
/ Close();
CbOpened() : void
«NativeTrigger»
/ Clear(); Reading
«lgnore»
CbFilled() : void
ChStopped() : void NotEnough
CbDone() : void Open
«lgnore» - CbFilled() : void
Stopping «NativeTrigger» —
/ Stop(): Enough
p0 ChDone() : void

«NativeTrigger»
ChError( Sector : int) : void / RV=Read( &Chunl%

«lgnore»

)<

ChError( Sector : int) : void

[else]

[RV==eRV.OK]

/| Error

CbReading() : void




package PlayerProtocol [ ClassDiagram U

PlayerClient
-RV : eRV = OK
-Titleld : String
-AtTime : tTime
Lk
< ~
s ~
/ AN
/ N
k A
IPlayerServer O IPlayerClient
+Start( Titleld : String, AtTime : tTime"*" ) : eRV +CbStarted() : void
+Pause() : eRV +CbPaused() : void
+Continue() : eRV +ChContinued() : void
+Stop() : void +CbStopped() : void
+CbFinish() : void
"N +CbError() : void
N _ 7
N -
SN~
L1

PlayerServer




]
component ProxyReader [ ProxyReader ]J L

d_ppp_reader : ProxyReaderServer

ppp_reader : ProxyReaderServer
]
L

PxReader : ProxyReader

(]

|
rp_reader : ReaderClient

d_rp_reader : ReaderClient

—
L




(‘state machine BackendFsm| {55 Tac_startRead U

entry / rpp_reader->Px_Clear();
frv=rp_titlebase->GetChunk(&My Chunk);

[frv==eRV.NO_RESOURCE]
ExitNoData
<  [else]/
frv=rp_titlebase->GetResult(); felse]
[frv==eRV.OK] ExitReadFailure
CS_Prepare
| Base | «AnyTrigger» —
H entry / rpp_display->Px_Prepare(); ’
«IsProxyNok»
«IsProxyOk» [else]
p
CS_Read

| Base «AnyTrigger Wait
. entry / frv=rpp_reader->Px_Read( &MyChunk );
«IsProxyNok»
«IsProxyOk» [else]

[

[frv==eRV.OK] JQ [else]

CS_IsFilled

. Base | «AnyTrigger» =
‘ entry / rpp_reader->Px_lIsFilled(); I
«IsProxyNok»
«IsProxyOk» [else]

rpp_reader->Px_CbError( BadSector ) /
rp_titlebase->ReportReadError( BadSector );

ExitReadError

ExitChunkError




(state machine Tac_StartPause[ t":!".i Tac_StartPause U

Cs
Base | «AnyTrigger» —
entry / frv=rpp_display->Px_Pause();
«IsProxyNok»
«IsProxy Ok» [else]
p
T [else]
[frv==eRV.OK] rpp_reader->Px_CbError( BadSector ) /
rp_titlebase->ReportReadError( BadSector );
ExitReadError
® .
rpp_display->Px_CbSynclost( BadTime ) /

rp_titlebase->ReportSynclost( &BadTime );

rpp_display->Px_CbFinished() ExitSynclost

ExitFinished




(state machine TbClientPsm[ [E+ ToClientPsm U

te

«NativeTrigger» «NativeTrigger»
| FileHandle=OpenTitle(Titleld); ldle / CloseTitle();
X
[FileHandle == 0]
[else]
N
«NativeTrigger»
/ RV=SetTime( &AtTime ); | Ready
ﬁL [else]
[RV==eRV.OK]
«NativeTrigger»
| ReportReadError( BadSector );

«NativeTriggers»

/ ReportSynclost( &BadTime );
«NativeTriggers»
[else] / RV=GetChunk(&Chunk);
[RV==eRV.FAILURE]
Tk
«NativeTrigger»
[RV==eRV.NO_RESOURCE] / RV=GetResult(); [else]




(‘state machine TbServerPsm[ TbServerPsmu

OpenTitle( Titleld : String ) : int

[else] /
return 0;

["valid Titleld"] /
TSM_ASSERT(0=FileHandle);
return FileHandle;

Idle

CloseTitle() : void

[else] /
return eRV.INVALID PARAM,;

["valid AtTime"]/
return eRV.OK;

["valid Chunk"] /
return eRV.OK;

[“finished"] /
return eRV.NO_RESOURCE;

SetTime( AtTime : tTime™*" ) : eRV Ready
\ ey

- ReportReadError( BadSector : int) : void

’ ReportSynclost( BadTime : tTime"*") : void
GetChunk( New Chunk : tChunk™") : eRV

[else] /

return eRV.FAILURE; too many read

errors

Ve
Ve

s
e [else] /
return eRV.FAILURE;

GetResult() : eRV




(state machine PlayerServerPsm|[ PlayerServerPsm U

«NativeTrigger»
/ CbStopped();

Stoppin
pping

)

Start( Titleld : String, AtTime : tTime"*" ) : eRV
Stop() : void
[else] /
return
eRV.INVALID_PARAM,; ["ok"]/
return eRV.OK;
Active
| Finishing ] «lgnore»
Pause() : eRV / «dgnore»Fause() : erRv
return eRV.OK_RACE; Continue() : eRV /
«NativeTrigger»
i | CbError();
Startin -1
( swting ]
«NativeTrigger» <;h?;geTngger»
/ CbStarted(); ror();
Running
Busy )
.
«NativeTriggers» Play k Continuing
ini gg- ) «NativeTrigger» |C—
/ CbFinish(); _
Pause() : eRV / / CbContinued();
return eRV.OK;
Continue() : eRV /
Pausing return eRV.OK;
«NativeTrigger»
/ CbPaused(); ——
v Paused




(‘state machine PayerClientPsm[ 1 PlayerClientPsm U

CbStopped() : void

«lgnore»
CbStarted() : void «lgnore»
CbError() : void

[else]

CbContinued() : void

«NativeTrigger»

| RV=Pause();
[RV==eRV.OK]

- «NativeTrigger»
Pausing / RV=Continue();

[RV==eRV.OK]

B «lgnore»
M Stopping CbPaused() : void
«NativeTrigger»
= ia)- «Ignore»
lelse] / RV=Start(Titleld, &AtTime); «Ignore» CbContinued() : void
& CbFinish() : void
«NativeTrigger»
/ Stop();
[RV==eRV.OK]
Active
{ Finishing ] { Starting ] CHETER]) £V > Error
CbError() : void
CbFinish() : void
nish() : voi ChStarted() : void
Running
Busy
Play k Continuin
Y __F el

[else]

X )

L CbPaused() : void J Paused




interaction ReadError | [fffil ReadError u

«Has Thread»
: Player

: Titlebase

: Reader
w

: Display
“

| | |
| 1: CbError(Se(itor:ErrorSector) | |
I
|

2: ReportReadError(BadSgctor=ErrorSector)
3: Stop()

4: CbStopped()

5: —$rtop()

6: Cbétopped()

7 élear()
I

alt

[valid Read[Chunk]

ref

11: GetResult()

12: eRV.FAILURE

[too marly errors]
| 13: CbError()

~ T|Too many read
errors

14: Stop()

15: CloseTitle() |
16: CbStopped() |
|

| ref

| Finish T Only messages 3-
| |

' |




interaction PauseContinue [ @ PauseContinue U

«HasThread» =] : Titlebase =) : Display =]
: Player
! |
I

I 1: Pause()

2: Pause()

3: eRV.OK

4: CbPaused()

5: CbPaused()

Paused Paused Paused

6: Continue()

7: Continue()

8: CbContinued()

9: CbContinued()




interaction Start[ @ Start U

:User =]

«HasThread» =]
: Player

1: Start(Titleld=Tid, AtTime=Star(Tiine)

: Titlebase =] :Reader =]

|
|
2: OpenTitle(Titleld=Tid)

3: SetTime(AtTime=Start[ime)

4: eRV.OK

5: Open(FileHandle=FHandlg)|

6: CbOpened()

8: GetChunk(New ChunksReadChunk):""

7 élear()
I

9: Prepare()

10: CbPrepared()

11: Read(pChlek=ReadChunk)

12: Cbﬂ?eading()

|
13: CpFilled()

| 14: Start()

15: CbStarted()

16: CbStarted()

=




interaction Finish[ @ Finish U

«HasThread» =] : Titlebase =] :Reader =]
: Player
I
Reading
- | -
1

1: CtJDone()
I

'I

| 2: CbFinished()

: Display =]

Play

3: CbFinish()

Op_en

ref

o

R int]




interaction PauseFinish[ @ PauseFinish U

«HasThread» =] : Titlebase =] : Display =]
: Player
I 1: Pause() . I ' I
2: Pause() l ! l
3: CbFinished()
4: eRV.OK_RACE
5: CbFinish()

ref




interaction Stop|[ @ Stop U

«HasThread» E]

: Player

| ! |

1: Stop()

9: CbStopped()

: Titlebase =)

:Reader =]

Reading

2: Stop()

: Display =]

Play

il

3: CbStopped()

I
4: $top()

5: CbStopped()

6: élose()

7: cotlosed()

[
8: CloseTitle() |

B L —]




interaction Synclost][ @ Synclost U

«HasThread» =]
: Player

: Titlebase =)
|

Reading

1j CbSynclost(BadTime=ErrorTime)

: Display =]

Play

2: ReportSynclost(BadTime=ErrorTime)

1 —' I

ref

ReadEror

Only messages: 3 -




(state machine ProxyDisplayServerPsm|[ ProxyDisplay ServerPsm U

«ProxyOk»
Px_Stop()
«ProxyNok»
Px_Prepare()
«NativeTrigger»
‘ Preparing 1 Px_ChPrepared();
Px_Prepare() «ProxyOk»
«ProxyNok» Px_Prepare()
«ProxyNok»
«ProxyNok» Px_Pause() /
Px_Start() Ready return eRV.OK;
)
«ProxyNok»
«ProxyNok» — Px_Pause() /
Px_Start() Synclost return eRV.OK;
«NativeTrigger» «NativeTrigger»
Starting ) / Px_ChSynclost( BadTime ); / Px_CbSynclost( BadTime ); StartPausin
9 _ 9
«NativeTrigger»
«NativeTrigger» / Px_ChSynclost( BadTime );
[ Px_CoStarted(); «NativeTrigger»
1 Px_ChPaused();
«ProxyOk» «ProxyNok» - 0 «ProxyOk»
Px_Start() Px_Pause() Px_Pause() /
return eRV.OK;
Px_Pause() «NativeTrigger»
Pl Pausin g
ay j\ 9 / Px_ChPaused(); >{ paused
[else] / ["ok"] /
return eRV.OK_RACE; return eRV.OK;
«Proxy Ol» «ProxyNok»
«ProxyNok»
§ Px_Continue()
Px_Continue()
«ProxyOk»
«NativeTrigger» «ProxyNok»
1 Px_ChContinued(); Continuing Px_Continue()
)5
«NativeTrigger»
/ Px_CbFinished(); ng
«ProxyNok»
Px_Stop() «NativeTrigger»
S / Px_ChStopped();
Stopping ) = ppedo;
Px_Stop()
«ProxyNok»




state machine ProxyDisplayClientPsm[

ProxyDisplayClientPsm U

«NativeTrigger» «NativeTrigger»
«lsProxyNok»
> Px_CbPrepared() : void «IsProxy Ok»
Preparing
«NativeTrigger»
. ) | Px_Prepare();
NatveTri «NativeTrigger» «NativeTrigger» «NativeTrigger»
«NativeTrigger» / Px_Start(); / RV=Px_Pause(); = H
1 Px_Start(); = Ready _Pause(): LRVSRERRLS U
«IsProxyNok» «IsProxyNok»
Px_CbSynclost( BadTime : tTime ) : void e L Px_CbSynclost( BadTime : tTime ) : void
Startin Synclost StartPausin
S _J e J (e
S Px_CbSynclost( BadTime : tTime ) : void
Px_CbStarted() : void Px_CbPausedy() : void
— «lIsProxy Ok»
«lsProxyOko» [Rv==eRV.OK] «NativeTrigger»
«NativeTri 3 7; ARVEPIRaUSE(); «NativeTrigger»
ativeTrigger «IsProxyNok»| 99
1 Px_Start(); . . 1 RV=Px_Pause();
«NativeTrigger»
Play ARVERXIRaUsE(); e Px_CbPaused() : void oo ]
/;
[else]
«NativeTrigger» «NativeTrigger»
Is Proxy Ok»
sult b / Px_Continue(); / Px_Continue();
«NativeTrigger» «IsProxyNok»
1 Px_Continue();
Px_CbContinued() : void
Continuing
«lsProxy Ok»
‘ Px_CbFinished() : void
B »(_Frisnina_)
«NativeTrigger»
1 Px_Stop();
«IsProxy Ok» «IsProxyNok» Stopping
_ Px_Ck pped() : void
- J

Happens when
state was Idle

«NativeTrigger»
1 Px_Stop();




state machine ProxyDisplayFsm[ Proxyl]splayFsmU

«Proxy Ok»

«ProxyNok»
ppp_display->Px_Prepare() /
rp_display->Prepare();

Preparing

ppp_display->Px_Prepare()
«Proxy Nok»

«ProxyNok»
ppp_display->Px_Start() /
rp_display->Start();

«ProxyNok»
ppp_display->Px_Start()

Starting

rp_display->CbSynclost( BadTime )

rp_display->CbPrepared() /
ppp_display->Px_CbPrepared();

Ready

Synclost

Active

ppp_display->Px_Stop()

«ProxyOk»
ppp_display->Px_Prepare()
«ProxyNok»
ppp_display->Px_Pause() /
rp_display->Pause();

!
ppp_display->Px_CbSynclost( BadTime );

|

rp_display->CbStarted() /
ppp_display->Px_CbStarted();

«ProxyNok»
ppp_display->Px_Pause()

-9

rp_display->CbSynclost( BadTime )

«ProxyOk»
ppp_display->Px_Start()

Busy

ppp_display->Px_Pause() /
frv=rp_display->Pause();

ppp_display->Px_Pause()

«ProxyNok»

rp_display->CbPaused() /

«ProxyNok»
ppp_display->Px_Pause()

StartPausing
e

rp_display->CbPaused() /
ppp_display->Px_CbPaused();

«ProxyOk»
ppp_display->Px_Pause() /
return eRV.OK;

Play JQ Pausing pppidlsplay->Fb(ichaused()S‘"—PauSed
[else] / [frv==eRV.OK] /
return frv; return frv;
«ProxyOk» «ProxyNok»
«ProxyNok»
display->Px_Continue
ppp_display->Px_Continue() ALY - 0
«ProxyOk» «ProxyNok»
rp_display->CbContinued() / ppp_display->Px_Continue()
ppp_display->Px_CbContinued(); Continuing rp_display->Continue();
rp_display->CbFinished() /
ppp_display->Px_CbFinished(); inishing
«Ignore» «Ignore» «Ignore»

rp_display->CbPrepared() rp_display->CbStarted() rp_display->CbFinished()

«ProxyNok»
ppp_display->Px_Stop() /

{ Stopping

)

J J

rp_display->CbPaused() rp_display->ChContinued()
«Ignore» «Ignore»

J

rp_display->CbSynclost( BadTime )
«gnore»

rp_display->Stop();

ppp_display->Px_Stop()
«ProxyNok»

rp_display->CbStopped() /
ppp_display->Px_CbStopped();




(state machine Tac_Recover[ I!E"!".'l Tac_Recover U

Stop : Tac_Stop

ExitReadError

X

ExitNoData

ExitNoData

e

StartRead :
Tac_StartRead

ExitReadFailure,
ExitChunkError

ExitReadFailure




(state machine DisplayClientPsm|[ DisplayClientPsm U

«NativeTrigger»

CbPrepared() : void

CbSynclost( BadTime : tTi : void
CbStarted() : void ynelost( BadTime : tTime ) : voi

«NativeTrigger»

e

CbPaused() : void

Preparing
«NativeTrigger»
«NativeTrigger» | RV=Pause();
/ Start(); E— TSM_ASSERT(RV==eRV.OK);
CbSynclost( BadTime : tTime ) : void CbSynclost( BadTime : tTime ) : void
Startin Synclost StartPausin
o A & (bl

Paused

CbFinished() : void

[else] [RV==eRV.OK]
«NativeTrigger»
CbContinued() : void Gy vee— / Continue();
Continuing & -

{ S Finishing

«lgnore» «lgnore» «lgnore» . .
CbPrepared() : void ~ CbStarted() :void ~ CbFinished() : void | <NatveTrigger»
1 Stop();
Stopping

\j\ \]\ \]\ CbStopped() : void

CbPaused() : void CbContinued() : void  CbSynclost( BadTime : tTime ) : void
«lgnore» «lgnore» «lgnore»




(state machine Stopping [ Stopping U

Stop : Tac_Stop

o

CS Close

H Base ] «AnyTrigger» T

entry / rpp_reader->Px_Close(); I

«IsProxyNok»
é‘g [else]

«IsProxyOk»

/
rp_titlebase->CloseTitle();




(‘state machine Tac_Stop[ [E%| Tac_Stop U

CS_Display
P Base «AnyTrigger» Wait
entry / rpp_display->Px_Stop();
«IsProxyNok»
[else]
-
«IsProxyOk»
CS_Reader
. Base «AnyTrigger» Wait
entry / rpp_reader->Px_Stop();
«IsProxyNok»
[else]

=

«IsProxyOk»




(state machine DisplayServerPsm] DisplayServerPsm U

Prepare() : void

Active

Preparing

return eRV.OK;

Play

«NativeTrigger»
| CbPrepared();
Pause() : eRV /
Start() : void B return eRV.OK;
«lgnore»
Pause() : eRV /
«NativeTrigger» «NativeTrigger»
S / CbSynclost( BadTime ); | Smelest / CbSynclost( BadTime ); e
. . «NativeTrigger»
«Natvelrigger> / CbSynclost( BadTime ); . .
/ CbStarted(); «NativeTrigger»
| CbPaused();
Busy
Pause() : eRV / «NativeTrigger»

/ CbPaused(); Paused

N Pausing
(|

«NativeTrigger»
/ CbContinued(); G e— Continue() : void
Continuing K
«lgnore»
Pause() : eRV /
«NativeTrigger»
/CbFInIShedO, FInIShIng
Stop() : void . .
«NativeTrigger»
— ) / CbStopped();
Stopping pped)




1

component Backend[ [ Backend J L
P [ ] d_pp_player : PlayerServer

pp_player : PlayerServer
=

BE Class : BackendClass

rpp_reader : ProxyReaderClient rpp_display : ProxyDisplay Client

rp_titlebase : TitlebaseClient

d_rpp_display : ProxyDisplay Client

d_rpp_reader : ProxyRea r_ld_rp_titlebase : TitlebaseClient

L1 L L1




1

t P & A )
component Payer{ ayer ] dd_pp_player : PlayerServer

d_pp_player : PlayerServer

L
PlayerBackend : Backend =]

d_rpp_reader : ProxyReaderClient d_rpp_display : ProxyDisplayClient
d_rp_titlebase : TitlebaseClient
d_ppp_reader : ProxyReaderS d_ppp_display : ProxyDisplayServer
L L
PlayerProxyReader : ProxyReader =] PlayerProxyDisplay : ProxyDisplay =]
] ]
d_rp_reader : ReaderClient d_rp_display : DisplayClient
dd_rp_reader : ReaderClient dd_rp_titlebase : TitlebaseClient dd_rp_display : DisplayClient
1
|- |- L




